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EHE—F RArs
6 1 190|2% BER 12.75 6 2] 807|FE #f 12.66
KRIE FES
2| 532/luRX EKX 7 3| Gh4|ERE = 12.91
BEES Ri5 REES
8| T55|#tFH Ei 8 1] 1272/ HA 12.91
BEKMS Ri5 .t -
[ 2348] RE +1.6 [ 24#8] RE -1.2
JE] -y | No. K R4 ffk = | [JE L-v] No. K 4 7k B eE
1 4 T&Eth X 12.07 1 1 IKIE 1] ] 12.31
BFER BERRIS
2 5| 5370 Zi 12.09 2 8] 638|ME FK 12.50
REES itk
3 2| 551|%H# i 12.24 3 4] 538|ZEmE iFnE 12.53
REES REfES
4 3| 113[#N EEX 12.28 4 5 I3 REEE 12.56
BREHIS —E—=ME+S
5 8 69| KFIEZE= 12.33 5 2| 354[ILuh R 12. 86
BERRIE AES
6 6/ 1267/8%8K mAv 12.59 6 6] 712/AE =& 12.97
EE s Et&Eds
7 7/ 1265/ K& =1 12.83 7 7 57|18 #WK 13.10
R s Et&Eds
1] 549N & 8 3 1958 #E 13. 46
REES Ri5 BEAG




ZF
100m

[ 25481 RZ=E -0.1 [ 2648] RZE +0.4
J&] L=y | No. K £ B4 B /®= | [IE] -] No. K 4 i B o OB
1 6/ 1189k EE 12. 41 1 6/ 1017|&% TR 12.81
E&Ed tEdES
2 2 TI8|MHE %&E 12.48 2 3| 1011/t &7 12.82
ELEES tEEdES
3 3| 722 BR 12.52 3 1] 10081 F K& 12.87
ELEES tEdES
] 1| 448[FIEpE Bk 12.69 ] 7 0| =E HiE 13.07
BERER Tt EHRES
5 5| 369 |{E kL& 12.77 5 4] 1015|1EE mE 13.10
TEERES tEdEE
6 4 T4 =E mid 12.83 6 5/ 1016/=%% #& 13.54
ELEES EEdES
7] 481 % Ri3h 7 2] 1009|%5:t  #3 13.97
BEE=ZS Ri5 tEEdES
[ 2741 FRE&E +2.9 [ 28481 JE&E +0.8
J&] b-» | No. K £ E4A KR EE | [IE] V-V ] No. K % il £ K EE
1 2] 1182k iR 12.26 1 8 471|@%E 2 11.85
e — P HETRE
2 7 26 /N EIE 12.28 2 6] 102|&F@ B 12.38
AEADH R—LIa/TC
3 1 B|MFE EBX 12.32 3 1 70/ L E37) 12.42
Tt EHES BERRIS
4 6 45151 fEK 12. 66 ] 4 16/E#% =X 12.75
FERG BEAS
5 3 282)lLO  #RE 12.66 5 T 2894 &= 12.94
KR KR
6 4] 803|5% %k 12.97 6 3 112088 K [& 12.99
TFES HKRg
5| b557|%MH E 7 b 256|&ER Ml 13.00
EREES Ri5 b EmRER
8 2= ImE 8 2] T62|&¥ 1EZ 13.01
Tt EHES Ri5 BREHIS
[ 29481 J&aE +0.6 [ 30481 JAaE +2.8
JE] b= | No. :E R4 gtk ®%E | [IE] V-»] No. K £ mE4A B mE
1 6/ SI6|REXE 12.42 1 2| 9504k #RR 12.57
—E—=MES EriEE
2 3 207 |EIR FE— 12.43 2 6/ 209/FH IE{T 12.94
I89F EFER
3 4] 182|FE WE 12.88 3 1| 519/ B 12.97
KRES Xl ES
4 8| 620|NEE EFI 13.08 4 5 138[IEEFIK 13.18
L L - Kifish
5 1 727|@F% EiE 13.15 5 4 149 EFME 13.36
ELtEFEES Fh - Kefich
6 2] 1268/ K& 13.30 6 3| 949)5EFE X 13.49
EHE—F EriEE
7 5 2[R T EEM 13.36 7 7 1269 KB RXXA 13.50
Ruid EHE—h
8 7 6252 HKRE 13.38
itk
[ 3140] FRE +2.6 [ 3248] FRE +1.6
J&| - | No. K £ il E3 ek ®%EZ | [IE| -] No. K £ Fil-£4 i EE
1 2 N EE BiE 12.70 1 2] 805|BIR KA 12. 41
£H® - TES
2 4] 114N E# 13.01 2 3 201 |&EE E*k 12.63
BREHIS IIEF
3 3 83 /ML RARFR 13.03 3 8 133[/\t&% @En 12.95
BERRIS &t
4 1 162[FIE8 EH 13.07 4 4] 186|F%E EX 12.96
LLE 5 IIEF
5 77 7518 # 13.33 5 6 50 #F & 13.03
5FE E=RA
6 5 6/&H FIK 13.83 6 7 25 FE RE 13.07
EFTRA—X AEAG%
7 6] T750|F%E HA 14.99 7 1] 335/#HHE K 13.26
5FE REEES
8 752|211 W= 5 188 /NFvF FE1E
5FE Ri5 SIEYF Ri5




ZF
100m

[ 33481 RZFE -1.0 [ 34481 RZFE -1.3

J&] L=y | No. K 4 B4 B /®= | [IE] -] No. K 4 7l £ o OB

1 3 b8|feH BT 13.02 1 3 61|55 :thiR 12.63
FRG =

2 5| SHAAREHAEZE 13.14 2 8 202%™ HFE 13.36
—E—=MES IEF

3 6] DbLI8|=EEW 13.17 3 4 67| 5T BT 13.41
—E—=MES$ =

] 8| 1192|%ME HEL 13.27 4 6] 1196|@%AK F*K 13. 44
1E&Ed 1E&Ed

5 1 50/ hnE ELEA 13.36 5 1 189/ R FFE 13.65
FRG I8F

6 2| 1057//hD 11 B 13.40 6 5/ 128 fEwk 13.68
£R% E&

7 4] 1054|%F &3 13.77 7 1] 106[lLh 5B 13.93
£RG R—LTa/TC

8 1 132|FEH f#3 13.84 8 2] 1027|p&F IThEER 13.94
A=pldax BEXitEs

[ 35481 RE -0.7 [ 36481 m=AFE -0.3

J&] b-» | No. K 4 E4A ik w= | I L-v] No. K % il £ o Y e

1 2 2116k FE 13.10 1 1 57|F1F #0= 13.70
BEAH FERH

2 4 190/fE< K FNE 13.11 2 2| 196|E5)1 #RtA 13.76
IHF IEYF

3 6] 806|=%F%F == 13.20 3 7 65| FEEBT 14.02
FES =

4 3| STTFEBEZAN 13.52 ] 4] 6351k tHiE 14.07
—E—=MES it Edh

5 8 194BH —4% 13.67 5 3| 2000/DEEID 14.09
IHF IEF

6 7 37\&E%E = 13.76 6 5/ 631/f&F B= 14.12
FERG it Edh

7 1] 1312]F@ ®HX 14.45 7 6] 231|Fik S8 14.17
Ruid .t -

5/ 9001 |86 K [E 8 8] 205|FFE A 14.53

HKR i Ri5 IEYF

[ 3748] RE +1.7 [ 38481 FmAFE +0.3

JE] b= | No. K R4 gtk ®%E | [IE] V-»] No. K mE4A B mE

1 6 70|35t $R 8k 12. 66 1 4 VRIE HURES 14.30
=B =t

2 4] bHhIEZE @miE 12.97 2 2| 633/ KA K 14.31
AC-Y itk

3 2] 2032t E 13.39 3 8| 1310\N¥ &L 14.39
IHF RATs

4 5 5| =8 BE 13.54 4 6 T4 55HRE K 14.80
FERT =t

5 7 30[E/® TRER 13.58 5 5 R240EF Efh 14. 81
BEAH BEAG

6 3| 198 IuO =34 13.91 6 3| 204|548 BEKER 14.94
1t IEYF

7 1] 105885 K fBE 13.96 7 1] 206|#1& #h:K 14.94
£R4G IEYF

8 8 Sk HREL 14. 46 8 1 134[HEE W 15. 80
Ruid &
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100m

24 LL—R
IEHL] No. K 4 HE R IR 7 Roek () k=& | #8 [IEfI
1 10 AR =2FK 10.79 (+2.3) 1 1
2 19 1EE R aFXK 10.92 (+2.3) 1 2
3| S28EeRK = B [ el 11.02 (+0.4) 2 1
4 68 )11 #H i A =2FK 11.07 (+2.3) 1 3
5 18 AL =2FK 11.08 (+2.3) 1 4
6 66 K )l =T =2FK 11.20 (+1.0) 3 1
7 89| FkR 0 aFXK 11.22 (+2.3) 1 5
8] ©526|E% @\ B [ el 11.26 (+0.4) 2 | 2
8 12 SBRR: =2FK 11.26 (+2.3) 1 6
8 80 |1 kI aFXK 11.26 (+2.3) 1 J
11 1078 BEXE BERE IS 11.29 (+1.0) 3 2
12 99| Tk it BRI S 11.31 (+0.4) 2 3
13| b41[3Ehe & BE [ P = 11.41 (+1.0) 3 3
14|  S42|#AK FREE 2 [iE] el 11.44 (+1.3) JJ 1
15| 546[F15 X 2 [t P 11.46 (-0.2) 41 1
16 T15RA &% RERRAIE 11.49 (+0.7) 6 1
17] 200|F% HEA KRS 11.53 (-0.6) 5 1
18] 361[FEAKX EERS 11.54 (+1.3) 11 2
18] 6754 feH =& 5 11.54 (+1.0) 3 | 4
20] 153|548 ISAHR —HEE=s 11.55 (=0.2) 41 2
20 35| &I K dtERRES 11.55 (+0.7) 6 | 2
22| 552|@E SENA BRI = 11.58 (+2.5) 10 1
22 [KIE: 1= IECY N AEAT 11.58 (+0.7) 6 3
22| 366|%KHE EERS 11.58 (+0.4) 2 4
25| 103Kk #H BRI S 11.59 (+2.7) 8 1
26| 347 EH  #Eth —BEE INCT 11.59 (-0.2) 4| 3
271 105/@0)Il BRA R"—LIT/TC 11.60 (-0.2) 4 1 4
27) 3N |¥E =t tERE 11.60 (+1.0) 3 5
29| 535/ KA = BE [ B = 11.61 (+2.5) 10 | 2
30| 548/hm HIE 2 [iE] el 11.63 (+0.7) 6 4
30| 238fEARKR & R — 11.63 (+0.4) 2 5
32| b525/fEH MEILA 2 [t e 11.65 (-0.2) 41 5
33| 596 ER £l HEALLES 11.66 (+2.7) 8 | 2
3| 141 BHE & KiR—& 11.66 (+1.3) 71 3
35| 39|FfE H AhiES 11.67 (+0.1) 11 1
35| 50|EtE =3I 2 [iE] el 11.67 (+2.1) 19 1
3| LUEH KXE 2 [ e 11.67 (+2.1) 19 | 2
38| 956 |5 RIEAER REH 11.71 (+2.7) 8 | 3
39| 559IEIE X BRI = 11.74 (+2.6) 12 1
39| T745|FEmE BR ol o ] 11.74 (+1.0) 3. 6
4 627 AR & L 11.75 (=0.6) 5 | 2
4 112|/=H S/ BRI S 11.75 (=0.6) 5 | 2
4 1008 S BERE L= 11.75 (+1.3) 7] 4
4 115/hNR BN fEEME 11.75 (=0.2) 41 6
4 367 | st sk TEERS 11.75 (=0.2) 41 1
46 93| #XE FRR 05 11.77 (+2.17) 8 4
46| STEH RX HEALLES 11.77 (+1.3) 11 5
48 21 F¥H #&F =t XF 11.78 (-0.6) 5 4
49 BB XE =aH 11.81 (+2.6) 12 | 2
49| 489Bl BuUk BREE=5 11.81 (+2.5) 10 | 3
51 241 |1k EE B —5 11.83 (+2.5) 14 | 1
51 8588 i FERRAIE 11.83 (+1.8) 22 1
53|  625[iEi1 5’;212 E0ELE 11.84 (+1.7) 13 1
53] 186/&F M KRIE 11.84 (-0.6) 5 | b
55| 4T77|FE%E gﬁl — P ETBE{ 11.85 (+0.8) 28 1
56| 539/ TR BRI 11.86 (+1.4) 21 1
571 TA|%th +hit EXFES 11.87 (+0.1) 11 2
571 336/HIF iEX TR 11.87 (+1.7) 13 ] 2
59| 560/ 2[R F[AX 2 [t el 11.89 (+1.8) 18 1
59 17|81 5% fEEmE 11.89 (+0.7) 6 | 5
61 150 /%8 A= KiR—& 11.91 (+1.6) 9 1
61| 183Kk mf £ 11.91 (+1.4) 17 1 1
63 38|#ME % e a=lan 11.92 (+1.8) 18 | 2
63| 968 HEHSE LE¥mp 11.92 (+2.5) 10 | 4
65| J63[fEAKRES fLERS 11.93 (+1.6) 9 | 2
66| 235]f8H MK ol o 11.94 (+1.6) 9 | 3
66| bI8FEAR BE FALLES 11.94 (+2.7) 8 5
68| 393|&kmE KE —Es 11.96 (+1.4) 17 1 2
68| 143 M E KX KiR—& 11.96 (-0.6) 5 6
0] 140/5%t= KiR—& 11.98 (+1.9) 15 1
70| 587|fREk K& FALES 11.98 (+1.4) 17 1 3
70| 530|#A%E REZAY B = 11.98 (+1.8) 18] 3
13 46| IEKX 1HEE e a=lan 11.99 (+2.6) 12 | 3
14| 966 §EEE|E§ £ ¥ 12.00 (+0.7) 6 6
75| 586/EE FHF FALES 12.02 (+2.5) 14 | 2
16 719 8p =T EXEES 12.03 (+2.1) 19 | 3
7] 963\ ABAE % E¥ 12.04 (+2.6) 12 | 4




JIEBL] No. E & HRE T IR mRA iz (A) EE | 4 IR
78| 5B5fERA &L R RE e 12.05 (+1.0) 16 | 1
78] 3T1|HARIA tERS 12.05 (+1.6) 9 [ 4
80| 493 &FH W B E == 12.06 (+2.5) 10| 5
81 UE TIPS =T ER 12.07 (+1.6) 23 | 1
81| 360|% EEH RS 12.07 (+1.7) 3] 3
81| 104|814 &=l A—LIa/TC 12.07 (+1.7) i3 4
81| 498FH ZE+ BEE=5 12.07 (+1.8) 8 | 4
85 T9[fER BT ERRIS 12.09 (+1.0) 6 | 2
85| 537|EO =3 BEES 12.09 (+1.6) 23 | 2
85 14[88H fWmE BEERF 12.09 (+1.8) i8] 5
85| 239[fERAR BEE B —5 12.09 (+1.3) 71 6
89 88| FH #iT ERRIS 12.10 (+1.8) 22 | 2
89 80|FZ A ,RJ?LI? 12.10 (+1.8) 22 | 3
91 96 |fIER &= B 12.11 (+1.3) 7 1
92|  31A|NHFBEH EES 12.12 (+1.6) 9 5
92| 9025|PEn 4t EREIe 12,12 (+1.7) i3] 5
92| 161|—1& =& M=L: 12.12 (+1.6) 9 6
95| 288|FZE R KRS 12.13 (+2.1) 9 4
95| 562|fm;m EA = 12.13 (+2.6) 25
97| 132|EEEH KR—& 12.15 (+1.9) i5 | 2
98| 107|EERRR A - Keheh 12.16 (+1.4) 21 | 2
99| 375\ EHm EERS 12.17 (+1.9) i5 | 3
99| 581HF I EXEES 12.17 (+1.4) 7] 4
99| 3JT6llERAR EE &R 12.17 (+2.1) 19 5
102] 148|F% XH KR—& 12.18 (+1.9) i5 | 4
102] 450 R JIIKA BEER 12.18 (+2.7) 8 6
104  485|FN =RA BREE=5 12.19 (+1.0) 16 | 3
104] 129 RIIIEE KR—& 12.19 (+1.9) i5 | 5
104] 568 FEEE —E—=ES 12.19 (+2.6) 2] 6
107| 184/ REMK A - Kehdh 12.20 (+0.1) 1] 3
108  673|Fmk & &GS 12.21 (+2.5) 4] 3
109 223&% 41K E[ = 12.22 (+1.8) 8 | 6
109 681/#AK BIA &y s 12.22 (+2.7) 8 | 7
1] 7TI5[;n  #8 tEEES 12.23 (+2.5) 4] 4
112] 5515t Jtie = 12.24 (+1.6) 23 | 3
2] 641ER 12 BFm 12.24 (+1.8) 22 | 4
112] 350 %E%£E T/ 12.24 (+1.4) 175
115 75 =1E jtiﬂj ERAIGE 12.26 (+0.8) 20 | 1
115 T182|%pE 3% fE&H 12.26 (+2.9) 27 1
115 580 =48 fE+h HEEXILE 12.26 (+0.1) 1] 4
118 376/ FtHREK tERE 12.27 (+1.3) 71 8
119 26/NR EiE EESTF 12.28 (+2.9) 27 | 2
119 113/l EEX BEREHILS 12.28 (+1.6) 23 | 4
119 58 2% (A-E ] 12.28 (+1.4) 7] 6
122] 372/ @AHK EERS 12.29 (+1.9) 5] 6
122] 133K & KR—& 12.29 (+0.7) 6 | 17
124] 248 H B K= 12.30 (+1.0) 6 | 4
125 RBEF = ERRIE 12.31 (-1.2) 24 | 1
125] 14458 K=& KR—& 12.31 (+1.8) 18 | 7
127 BNFE &KX FtEHkEs 12.32 (+2.9) 21 | 3
128 69| KFIHEE— ERRIS 12.33 (+1.6) 23 | 5
129 225 |{£ Rk B R ER JtE - Farh 12.34 (+1.0) 16 | 5
120 476/ &% #A ANE S 12.34 (+2.5) 10 | 6
131  632|mIJIl & E 12.35 (+1.4) 21 | 3
132| 233|35th  FHARL Bl —5 12.36 (+2.5) 4] 5
133 102/Z@ 1 R—LIT/TC 12.38 (+0.8) 28 | 2
134 843|FH HA —HE =5 12.39 (+0.1) 1] 5
135 108|FFiE =X BE A T 3L 5 12.40 (+0.8) 20 | 2
136| 11894k KR EsH 12.41 (-0.1) 25 | 1
136 805/ &R KBk TE= 12.41 (+1.6) 32 | 1
36| 1013/NE X% EEmEE 12.41 (+1.0) 16 | 6
136| 134/ FEFE KR—& 12.41 (+1.9) 15 | 7
136] 678|=f8 HEA & lEE 12.41 (+2.7) 8 8
141 576 REX —E—SMES 12.42 (+0.6) 29 | 1
141 70/h L ERRIS 12.42 (+0.8) 28 | 3
143 207 |dklR % — IEF 12.43 (+0.6) 29 | 2
144 145N 15 KR—5 12.46 (+0.1) 11| 6
145 718 ‘r’rEE e ELEES 12.48 (-0.1) 25 | 2
146 638/ME K jtEs 12.50 (-1.2) 24 | 2
147 722 ﬁa’ﬁﬁ i tEEES 12.52 (-0.1) 25 | 3
147] 106 AfE &= RERE T AL 5 12.52 (+1.7) 13 ] 6
149 285 1&'5%% EA KR 12.53 (+0.8) 20 | 3
149 538|FBik b7#8 M = 12.53 (-1.2) 24 | 3
151 573 ﬁ*ﬂ%’sﬁ@ —E—SMES 12.56 (-1.2) 24 | 4
151 357|FH %K AES 12.56 (+1.4) 17 | 7
153|  950|{£#% &RAR & rlag 12.57 (+2.8) 30 | 1
153 723 %% B4t TEEEES 12.57 (+2.1) 19 ] 6
155 676/ h&a =i &7 laE 12.58 (+1.4) 21 | 4
156 1267|#K mdr T s 12.59 (+1.6) 23 | 6
157 83Tt MEA RATP 12.62 (+1.8) 22 | 5
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7 00m

BB No. K 4 HERF R 7 Acik () = | M IR
158 61 Hithim = EF 12.63 (-1.3) 34 | 1
158 201 |75me REE L8 Frh 12.63 (+1.6) 32 | 2
160| 1266 |z B BEoE—F 12.65 (+1.4) 21 5
161 10|55 iR 8k i 5 12.66 (+1.7) 37 1
161 1871k E4& KRIE 12.66 (+0.8) 20 | 4
161 45 )11 yE X k=lan 12.66 (+2.9) 21 | 4
161 2821lLO  #RAE KR e 12.66 (+2.9) 21 | 5
161 807/ F% TES 12.66 (+1.8) 22 | 6
166 | 448|fERE AL ERES 12.69 (-0.1) 25 | 4
167 42\=k  RUE =aF 12.70 (+2.6) 31 1
167 496 | pkdt EiE BREE=5 12.70 (+0.8) 20 | 5
169 110/%H A& BRI IS 12.73 (+0.8) 20 | 6
170 16/£3% 5K a5AT 12.75 (+0.8) 28 | 4
170 190/2%F mBA KRI S 12.75 (+1.4) 21 6
172| 801|2HER EERS 12.76 (+2.6) 12 | 1
173|369 | Bk L4 EERS 12.77 (-0.1) 25 | 5
174] 1017|248 IREk EEmE 12.81 (+0.4) 26 1
175] 10114 &= L5 12.82 (+0.4) 26 | 2
175 96258 &3 EEEEES 12.82 (+2.1) 19 | 7
177 724|1=5F w3t EFES 12.83 (-0.1) 25 | 6
177] 1265/ K2 =1k BEOE—F 12.83 (+1.6) 23 | 1
179 354 lLip  #R8 AmiES 12.86 (-1.2) 24 | 5
179 333[p&R ¥AN T/NEEH 12.86 (+1.8) 18 | 8
181 1008JII'F  KiH TtEEE 12.87 (+0.4) 26 | 3
182 182 ﬁ*ﬁ% EE KRB = 12.88 (+0.6) 29 | 3
183 5b4|Z%=fkE =X BE ] /I = 12.91 (+1.8) 22 | 1
183| 1272|tkmk A .t -me 12.91 (+1.8) 22 | 8
185 209 ’»ﬁiiﬂ 11T =FER 12.94 (+2.8) 30 | 2
185 289|#H =¥ IR 12.94 (+0.8) 28 | 5
187 133 /\'|1§ fe) B fesdtp 12.95 (+1.6) 32 | 3
188 186|fFmk X L8 Frp 12.96 (+1.6) 32 | 4
189| ©553[[E:2 ohiE AC-Y 12.97 (+1.7) 37 | 2
189| 579 /{kfk L7 HALLES 12.97 (+2.8) 30 | 3
189 712/@HRE = AR 12.97 (-1.2) 24 | 6
189| 803/ 9% 4Rk TES 12.97 (+2.9) 21 | 6
189 1007|=#8 AKX fEEME 12.97 (+1.0) 16 | 7
194 1120|85K BE RIKGRH 12.99 (+0.8) 28 | 6
195 256|&/R Ml It _EmiRE 13.00 (+0.8) 28 | 1
196 1141 EE BE [ Th 3L 5 13.01 (+2.6) 31 2
196 762|#2%t 1E&K BT S 13.01 (+0.8) 28 | 8
198 58/18M mt FaH 13.02 (-1.0) 33 1
198] Ti6/fkc<K FE EXE5ES 13.02 (+2.5) 14 | 6
200 83 |/MLUAARER BRRRLIS 13.03 (+2.6) 31 3
200 SOEF  EA x=han 13.03 (+1.6) 32 | 5
202 0|=1E i tEHES 13.07 (+0.4) 26 | 4
202 162[BIER EJE LIEH 13.07 (+2.6) 31 4
202 25|k mE AEART 13.07 (+1.6) 32 | 6
205| 620|NEE A e 13.08 (+0.6) 29 | 4
206 21k BB AEART 13.10 (=0.7) 35 1
206| 1015/{kpk EnE EEmE 13.10 (+0.4) 26 | 5
206 ST EE WX AR 13.10 (-1.2) 24 | 17
209 1904 K FIEE L#9FH 13.11 (=0.7) 35 | 2
210 bS14|ARHEZE —H—=MES 13.14 (-1.0) 33 | 2
211 127k RiE EXE5ES 13.15 (+0.6) 29 | 5
212 D518| =Rk —E—=MES 13.17 (-1.0) 33 | 3
213 138[IBE A PN Ly 13.18 (+2.8) 30 | 4
214] 806|=F% = TES 13.20 (=0.7) 35 | 3
215|  335[#HEA K BEEES 13.26 (+1.6) 32 | 1
216| 1192/5kM HEIR fesm 13.27 (-1.0) 33 | 4
217] 1268/ X& EhmE—H 13.30 (+0.6) 29 | 6
218 151|8E #& 2FE 13.33 (+2.6) 31 5
219  202/4&%r H& L89FH 13.36 (-1.3) 34 | 2
219  149|E =@M F PN L 13.36 (+2.8) 30 | 5
219 o0 fime E T BA FaH 13.36 (-1.0) 33 | 5
219 23RT  REM RETH 13.36 (+0.6) 29 | 7
223| 625|515 EATF Lt 13.38 (+0.6) 29 | 8
224 203|515 & A alas 13.39 (+1.7) 37 | 3
225 1057[/pII EHh Fogalan 13.40 (-1.0) 33| 6
226 67 #BAS 1= B 13.41 (-1.3) 34 | 3
227] 11968 A X e 13.44 (-1.3) 4 | 4
228 1958 HE BEEATH 13.46 (-1.2) 24 | 8
229  9493FmE XK ol ol 13.49 (+2.8) 30 | 6
230 1269|KZFE RX#H BEos—F 13.50 (+2.8) 30 | 7
231 5717 *”“1.=2’T“ —E—SHETD 13.52 (-0.7) 3 | 4
232 152/hgR —E¥E=5 13.53 (+1.0) 3 1
233 55| =15 %E ety 13.54 (+1.7) 37 | 4
233 1016/=15 #& EEEE 13.54 (+0.4) 26 | 6
235 30| ER RER BEEAH 13.58 (+1.7) 37 | 5
236| 189/hm FF I8FH 13.65 (-1.3) 34 | 5
237 194|BH —4 A8FH 13.67 (=0.7) 3% | 5
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100m

BB No. K 4 HERF R 7B Aok () = | M IRk
238 1284l f@mh f£&d 13.68 (-1.3) 34 | 6
239 STFIE ™M= =k 13.70 (-0.3) 36 1
240  826])1l¥m (3= el =T 13.72 (+1.0) 16 | 8
241 196 &)1l #x%h LE)Frp 13.76 (-0.3) 36 | 2
241 31%mmE &R e ki=lan 13.76 (-0.7) 35 | 6
243| 1054|%:th  1&3 Fodelan 13.77 (-1.0) 33 | 17
244 6|=H FIAL BFYXRZ—X 13.83 (+2.6) 31 6
245| 132|T%FH f23 AL s 13.84 (-1.0) 33 | 8
246 T1198[ 14O =54 fEEH 13.91 (+1.7) 37 | 6
247 106[luh  1EER "—LI/TC 13.93 (-1.3) 34 | 7
248 | 1027 BI&R  THEER HEXAILLES 13.94 (-1.3) 34 | 8
249| 10588 K {EE =AY 13.96 (+1.7) 37 7
250 1009|%:th %W EEmE 13.97 (+0.4) 26 | 7
251 65 FEEF 1= B 14.02 (-0.3) 36 | 3
22| 635/{kRE thiE et 14.07 (-0.3) 36 | 4
253 |  200\/MR - FRID IEFrh 14.09 (-0.3) 36 | 5
254] 631 MIER RSB e | 14.12 (-0.3) 36 | 6
255| 231 |Fi& =8 .t - me 14.17 (=0.3) 36 | 7
256 JRIE B S 1= 5 14.30 (+0.3) 38 1
257| 633| KN &KX et 14.31 (+0.3) 38 | 2
258 | 1310JI# IR A 14.39 (+0.3) 38 | 3
259 1312|FH @WK RIS 14.45 (-0.7) 3 | 7
260 S| TRBL RIS 14.46 (+1.7) 37 | 8
261 205/ F% e LEFrp 14.53 (-0.3) 36 | 8
262 14|55 R A =5 14.80 (+0.3) 38 | 4
263 32|hF BT AEAT 14.81 (+0.3) 38 | 5
264| 204/=15 BAKER I8FH 14.94 (+0.3) 38 | 6
264 206 #kiE  #HIK IE)Frp 14.94 (+0.3) 38 | 7
266 750/ %Ek A a2F5 14.99 (+2.6) 31 7
267 134[#&=F i fesdth 15.80 (+0.3) 38 | 8




E'F [RE: 5A2H 15:05 |

200m

[ 1#48]  J&aE +2.7 [ 2#48] JAE +2.6
J&] L-v ] No. KE % R4 Rk /EE | [IE] V-V ] No. KE % B4 i EE
1 6 T0EBREC 21. 81 1 5 351|FH % 22.68
52FX —BEAEEINCT
2 3 68| JIIF K 21.88 2 6| 675%Fih EH 22.95
52FX Er e
3 4 VEERE 21.98 3 1 238/iEAK & 23.16
BFK BE—5
4 8 9 TiE & 22.37 4 3 115/hE FA 23.27
B H I EERE
5 2 89| FRIRFN 22.59 5 4 0SB FHH 23.29
52FX &L
6 5 T8 BHEL 22.90 6 2| 367 FimEEk 23.50
52FX tERS
1 362//NEZEX 7 7 366|sAE 23.51
EERES Ri5 TEEES
1 118&% BA 8 8 60 = Z=3 24.54
EEmEa Riz FES
[ 3#8] JA:E +0.6 [ 4#48] J&:E 0.6
J&] L-v ] No. E % R4 iRk EE | [IE] V-V ] No. KE % R4 K EE
1 3| 546|FEH X 22.59 1 4| DSh3|EED #F 23.21
BEES EERES
2 5 TT5RE #FH 23.16 2 5/ T05[RTIII B 23.26
BRRIZ R—LTa/TC
3 6| 1003Ef%E = 23.27 3 8 13/ 8%ME SXE 23. 44
BETHIS BEAH
4 4 414 BBEEX 23.47 4 3 28| %% HE 23.62
AiNES Tt EHES
5 1 39FE = 23. 61 5 2| 361|FEHK 23.73
AES TEERES
6 1 OEE WX 24.32 6 1 371 ®BKRERL 2411
FES TEEES
2 50 A EzB 1 13T E X
EELS Ri5 KR—= Ri5
8 8 ER R 6 93#A@ &
E&ELS Ri5 £2R5 R 15
[ 5481 AR +2.2 [ 6#8] JAE +3.4
JE] b= | No. KE £ R4 gtk ®%E | [IE] V-»] No. KE £ mE4A B mE
1 6| 141|B#E = 23.35 1 2| 107/#%ME E& 23.18
KR—= BETIS
2 8| Sh2EE ‘M 23. 41 2 3 112=@ EBF 23.76
BEES BETIS
3 2| 548|/NE HIB 23.59 3 1 103 KR # 23.79
BEES BETIS
4 3| Bh9EE MK 23.79 4 5| 956 #AARTEARER 2411
BEES HEH
5 7] 150[%8F X% 24.01 5 7 360% =E 24.51
KR—= AKRES
6 4 6801 A 24.37 6 6| 476 BRI 25. 44
£ riEE BHES
7 5| 378|# Lz 24.68 4 171 BE%E HE
EEES TtEES Ri5
8 195/ILEE &
KRIE Ri5
[ 7#48] JA:E +2.5 [ 8#8] J&aE +2.0
J&[ v-v | No. KE 4 FiR% ek /wE | [IE] -] No. K % £ i EE
1 4 368|1LEH 23.51 1 5/ 599|Kfn THIR 24. 44
EEES EXittEE
2 6| 3BIMHE=E 24.29 2 4| 586/EE HF 24.65
EEES EXittEE
3 5| 372|@EAEK 24.36 3 7 314 NHFEBE 24. 81
EEES TEEES
4 7 376 @ithEEK 25.22 4 1| 581A+ I#% 24.86
EEES EXittEE
5 8| 357|FH TR 25. 46 5 2| 33 AE EX 24.94
AES T/Ni&h
6 3 33 ERARE 26.00 6 3 0 EEEEE 25.01
EEES T/Ni&h
1 45| %% 2 7 6 8|3Z7E MEA 25.75
t&LS Ri5 Ruid
2] 128 RIEE 8 8 b4 ER BEE 25.77
KR—= Ri5 t&IS
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[ 9481 B +1.7 [ 1048] RZE +0.2
J&] L-v ] No. E % B4 B /®= | [IE] -] No. E % i B o OB
1 8] 1183/ Kk BEBHF 24.14 1 8 38|#@E & 24.26
fE&hh Z=RF
2 5 560 2/ HHXK 24.17 2 2 EE X2 24. 47
BEES Z=RH
3 6 88|FH #MiF 24.40 3 7 161 —1& 3% 24.99
ERRIS [LIE &
4 1 b62|f8iH EX 24. 46 4 5 568 EEEE 25.16
BEES —BE—EME+F
5 4 225 |{E BB R ER 24.98 5 6 580|518 {£% 25.58
dE-md HiEeXde
6 2 843|5H MA 25.05 3 561|FEEE [HE
—BEEZE EEES Ri5
7 3 145|/N87F 15 25. 32 4 532|ILAx EKX
KiR—& EEES Ri5
8 1 676 h~c Z:3t 25.74
ool ol
[ 1148] E&E +1.2 [ 1248] RL=E +1.1
J&] L-v ] No. E % E4A KRk EE | [IE] V-V ] No. KE £ il £ K EE
1 1 b55|{fE 2K &3 23.54 1 6 393 | =ik (kB 24.19
BEES —EEE
2 3 bl BaH KE 23.90 2 7 396|ILh  lEX 24. 66
BEES —EEE
3 6 15 ER X 24.06 3 3| 9025|FTER 451 24.87
5EA% E2OEIE
4 5 1%t X 24.63 4 2 354|1LUh  #REa 25.95
BEFER AKES
5 1 b4 |5k EKX 26.03 5 4 T2 AR & 26.08
B 7 (- A
6 2 579 |{E % B 26. 28 6 1 41k 2 KimH 26. 50
HEXLtES Haidth
4 801 EHESR 7 5 b1/ EE WK 27.09
TEERS Ri5 tElts
8 339 EA E3 8 631/hMNm  Filx
TR Ri5 bk Ri5
[ 13%8] RELE +2.0 [ 148H] JRELE +1.8
JIE[ L=y No. K £ R4 ffkw= | [JE L-v] No. K £ R4 iR RE
1 6 46| IEKX 1HE 24.19 1 2 b87|1Fk Kid 24.58
FERT EXitEE
2 1 132| 5 HEH 24. 44 2 6 104|214 =T 25. 01
KR—8 HR—LITa/TC
3 2 148| F%E KXH 24.68 3 7 LYRIEE: 1R 25. 21
KiR—& —BE—SME+P
4 5 69| KFIEFE= 24.72 4 4 108|550 EX 25. 47
BRRIE BREHIS
5 3 1189k ER 25.00 5 1 576 &3 =t 25.48
1t EXittEE
6 4 127211k WK 26.70 6 5 110/37A 134 25.99
bt - mg BETLS
7 549N E# 7 8| 134 |FESFE 26.57
BEES Ri5 KiR—=
8 b51|%th  Joi 3 80 FF A
BEES Ri5 BERRIS Ri5
[ 15%8] J&:E +0.5 [ 16#8] J&aE +0.7
J&| v-» | No. K £ FiR% R /wE | [IE] -] No. K £ £ i EE
1 4 477|748 3K 23. 86 1 3 86|85 E3| 24. 86
—FRTEER BERRIS
2 6 70(/vL # 25.19 2 6 638 AE E X 25.90
BERRIS bt ke
3 2 369 | (kL st 25.30 3 7| 112085 K & 26.27
TEERS HKiR g
4 3 102|&5H 19 25. 46 4 2 195|7fE@ IR 26. 43
HR—LITa/TC JI89F
5 8| 12661k E& 26. 33 5 8 83| /MLUMAAERAR 26. 83
EHE—F ERRIB
1 6 1] 1265\ K& =& 27.10
EHE—F
5 162 |%24F 1EBR 7 5 23RT Fefst 27.35
BREHIS Ri5 Ruid
7 647 R 1= 4 256 R Al
B5FE Ri5 it EHBER Ri5




[ 1748] RZE +1.4 [ 1848] RZE +1.3

J&] L=y ] No. E % B4 iRk HE | [IE] V-V ] No. E % i B o OB

1 2| 140 EHE 24,55 1 2| 207 EER B#— 25.68
KiR—& IHF

2 1 A5/FENT WK 25. 69 2 4 190/fE& K FIE 26. 66
FRT IHF

3 4 188|/NEHF Rk 26. 01 3 8 162/fEF EX 27.01
I#Fh =L

] 3 201 |ZEE Bk 26.23 4 3 186 |FEE BX 27.15
I#Fh IHF

5 8 333|fEF ¥AK 26. 29 5 7 138[IEEFWK 27.27
T/E&h Fh - Keficp

6 5 EF &N 26.97 6 5/ 192/@f8 EXx 27.63
FERT IHF

7 7 51|F1E #i= 27.89 7 6| 1027 |F&F ZHLER 27. 71
E£HG BEXitEs

6 26N EIE 1] 900185k &

EEA Ri5 RAKR P2 Ri5

[ 1948] FRE&E +1.6 [ 2048] RL=E +3.1

J&] L-v ] No. E % E4A KRk EE | [IE] V-V ] No. KE £ il £ K EE

1 3| 133[/\& @ 26. 35 1 2 6135 :thiR 25.74
1E&d s =¥

2 2| 1057[/p 1 &1 27.12 2 6/ DOH3EE arE 26. 11
ZR+ AC-Y

3 6/ 1192/¢%%B BE5n: 27. 21 3 7 2|5k BUE 26. 36
(LS ER$

4 7 ER K— 27.59 4 4 58/f8H BT 26. 44
RAET SiLs

5 5| 132|F%HF @3t 28.22 5 5/ 194mHF —=% 27.92
fE&dedh IHF

6 4 37 &% = 28.37 6 3 128 @ 28.06
FHF &t

8] 106/luh 5% 0

R—LITa/TC Ri5

[ 21481 & +3.1 [ 22#48] J&aE +1.5

JE] b= | No. KE £ R4 gtk ®%E | [IE] V-»] No. K £ mE4A B mE

1 2 67 BT 26. 74 1 4 65| FEZT 28.13
= =¥

2 3 50| ik ELTEA 27.01 2 2 6/&H FK 28.76
FRF BFTARAI—X

3 1 20328 ¥& 27.84 3 6| 633 KA #AX 30.55
IEF bt ke

4 4 =B BE 28.72 4 5| 206 |#IE  #hik 31.04
FRT IHF

5 5| 231k =1E 28.97 5 3 S5{EmE HRE 31.34
bt - Eaeh RAid

6 6/ 200//DE - OED 29.04 6 7 134#&E @ 33.95
SI#F fEEdH
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24 LL—R
IEHL] No. K 4 HE R IR 7 ok () k=& | #8 [IEfI
1 10 AR =2FK 21.81 (+2.7) 1 1
2 68 )11+ A =2FK 21.88 (+2.7) 1 2
3 19 EE R 5FK 21.98 (+2.7) 1 3
4 99| THk it BE [ Th 3L = 22.37 (+2.7) 1 4
5| 546[FtH X B [iE] el 22.59 (+0.6) 3 1
5 89| kR 0 aFXK 22.59 (+2.7) 1 5
7| 351FH % —BEZE INCT 22.68 (+2.6) 2 1
8 18 BH AL 52FK 22.90 (+2.7) 1 6
9] 6755 feit =7 BS 22.95 (+2.6) 2 | 2
10 TIRE =% BRRRALIS 23.16 (+0.6) 3| 2
10| 238/ERK & B —= 23.16 (+2.6) 2 3
12| 107[#%H EE B hilE 23.18 (+3.4) 6 1
13| D5b3[EEA & BE R = 23.21 (-0.6) 41 1
14]  105[mJIl ERA R"—LIT/TC 23.26 (-0.6) 41 2
15] 100[:hpkE ER B [t T 3L 5 23.27 (+0.6) 3 3
15] 115[/pg FA fEEME 23.21 (+2.6) 2 4
17 4 R f£Eds 23.29 (+2.6) 2| 5
18] 14154 B KiR—5 23.35 (+2.2) 5 1
19| 552|EF L B [ e 23.41 (+2.2) 5 | 2
20 13/8kRA XA BEEART 23.44 (-0.6) 41 3
21 474 BHRIEE FEHE S 23.47 (+0.6) 3 | 4
22| 367 % MmEBE tERE 23.50 (+2.6) 2 6
23| 368|{EEEFH EERS 23.51 (+2.5) 1 1
23|  366|%HEE EERS 23.51 (+2.6) 2 | 1
25| 5bblfEAK B3 BE [ F = 23.54 (+1.2) 11 1
26 548N HIE BRI = 23.59 (+2.2) 5 | 3
27| 39 #fE E AmiES 23.61 (+0.6) 3 5
28 28k BE dtEMRES 23.62 (-0.6) 4 1 4
29| 361 |RBEMA LERE 23.173 (-0.6) 41 5
0| 112|=H 5% BERE TS 23.76 (+3.4) 6 | 2
31 103 2KR 5 BT S 23.79 (+3.4) 6 3
31 559[7FiF MK BRI = 23.179 (+2.2) 5 4
33| ATTAEEE A — P HTEEHR 23.86 (+0.5) 15 1
34| 5HAEBH KE BRI = 23.90 (+1.2) 11 2
35| 150/48H K% KiR—& 24.01 (+2.2) 5 | 5
36 158/ X AERS 24.06 (+1.2) 11 3
37] 956 fAK'IEKEB REH 24.11 (+3.4) 6 4
37| 371 #ARRIA EERE 24.11 (-0.6) 41 6
39| 118Xk EH £ 24.14 (+1.7) 9 [ 1
40| 560 2R F[HX BE [l /T = 24.17 (+1.7) 9 | 2
4 33| %k KE —H& 24.19 (+1.1) 12 1
4 46 EKX {REE a9 24.19 (+2.0) 13 1
43 38#ME & FaH 24.26 (+0.2) 10 1
44| SR MMES tERE 24.29 (+2.5) 1] 2
45 59|k AKX TES 24.32 (+0.6) 3. 6
46| 372 BRI EERE 24.36 (+2.5) 71 3
47| 680tk A =7 BE 24. 37 (+2.2) 5 6
48 88| FH HIF RRRALS 24.40 (+1.7) 9 | 3
49| 599/ K% IR HEALLES 24.44 (+2.0) 8 1
49 132|EHEH KiR—5& 24.44 (+2.0) 13 ] 2
51 562 |f&im EX A ] 24.46 (+1.7) 9 4
52 Bl XE =a9 24. 47 (+0.2) 10 | 2
53] 360/F%F SE AMES 24.51 (+3.4) 6 | 5
54 60 =548 =W TES 24.54 (+2.6) 2 8
55| 140/m%t= KiR—%& 24.55 (+1.4) 17 1
56| 587|FEk KX FALES 24.58 (+1.8) 14 | 1
57 JRE:Hi PN EFER 24.63 (+1.2) 11 4
58| 586/EE FF FALLES 24.65 (+2.0) 8 | 2
59| 396|lLh WEX —HEaE 24.66 (+1.1) 12 | 2
60| 148/F%F KM KiR—& 24.68 (+2.0) 13 ] 3
60| 378|#f _EzF0 tERE 24.68 (+2.2) 5 | 1
62 69| AFNEHFAE= R2RALIS 24.72 (+2.0) 13 | 4
63| 374//NEFIFAEL tERE 24.81 (+2.0) 8 | 3
64 86 #n K fH3 2RALIS 24.86 (+0.7) 16 1
64| S81 HF ik FALES 24.86 (+2.0) 8 4
66| 9025 |BrER  ##4st el 24.87 (+1.1) 12 | 3
67| 336/ HIF EX T/NER 24.94 (+2.0) 8 5
68| 225 {zRREERER t-mEh 24.98 (+1.7) 9 1 b
69| 161—f& && I EH 24.99 (+0.2) 10 | 3
70| 189k EE s 25.00 (+2.0) 13 ] 5
71 104 &4 ERA "—LI3/TC 25.01 (+1.8) 14 | 2
11 BO[FEXES TR 25.01 (+2.0) 8 6
3] B43/FH A —HE=5 25.05 (+1.7) 9 6
14| 568 EEEEH —E—SHETD 25.16 (+0.2) 10 | 4
75 70/ /v # RERRIS 25.19 (+0.5) 15 | 2
16| S13 FEEEiE —E—SHET 25.21 (+1.8) 14 | 3
771  376|% &R EERE 25.22 (+2.5) 71 4




BB No. K HERF R 7k ik () = | M ek
78| 369 |{% k[ A3 EERE 25.30 (+0.5) 15 | 3
79| 145|/hFF (B KiR—% 25.32 (+1.7) 9 | 1
80| 476 BIEIA BNES 25.44 (+3.4) 6 6
81 102|5H 1 R—LITI/TC 25.46 (+0.5) 15 | 4
81 357|FH FEKR AhiES 25.46 (+2.5) 71 5
83| 108|7mmk EX BERE T IL S 25.47 (+1.8) 14 | 4
84| b576/F% &b HEALLES 25.48 (+1.8) 14 ] 5
85| 580/=#E =tk HEXIEE 25.58 (+0.2) 10 ] 5
86| 207 @klR #— I8FH 25.68 (+1.3) 18 1
87 45 #A)11  yE A ke 25.69 (+1.4) 17 1 2
88 61| %t im 1= 5 25.74 (+3.1) 20 1
88| 676/~ Zit =7 BE 25.74 (+1.7) 9 8
90 8[3fE MEA LRI 25.75 (+2.0) 8 | 1
91 MEIR  BkE itEils 25.77 (+2.0) 8 8
92| 638ME HEKX B 25.90 (+0.7) 16 | 2
93| 354lip  fRE AhiES 25.95 (+1.1) 12 | 4
94| 110/%H 1A BERE LS 25.99 (+1.8) 14 ] 6
95| 363|fEAKRES tERE 26.00 (+2.5) 1] 6
96, 188 /J\E]’# E{E I8FH 26.01 (+1.4) 17 1 3
97| 5b4|%EE =X BRI = 26.03 (+1.2) 11 5
98| TI12/MR = AR 26.08 (+1.1) 12 ] 5
99| ©553[[E:Z hiE AC-Y 26.11 (+3.1) 20 | 2
100 201 |75mk REE I8FH 26.23 (+1.4) 17 | 4
101 1120]85K BE FIKRH 26.27 (+0.7) 16 | 3
102| 579tk L3 FEXAILES 26.28 (+1.2) 11 6
103| 333[f#8 ¥AKX T/NEEH 26.29 (+1.4) 171 5
104| 1266 |{cm: B BEOaE—F 26.33 (+0.5) 15 | 5
105 133]/\#& [mi&n fe&dth 26.35 (+1.6) 19 1
106 2=k BUE k=lan 26.36 (+3.1) 20 | 3
107] 195|7EH MR I8FH 26.43 (+0.7) 16 | 4
108 58 8@ Rt a9 26.44 (+3.1) 20 | 4
109 41&’1*/?5"& R 26.50 (+1.1) 12 | 6
110 14|FESF KiR—& 26.57 (+1.8) 14 | 1
111 190 1ZE/‘17|< M Ii’]?ﬂlﬂ 26.66 (+1.3) 18 | 2
12| 1272|tkk #A .t - me 26.70 (+2.0) 13 ] 6
113 67 #BAE = EF 26.74 (+3.1) 21 1
114 83 |/MLUAARER BRRRLIS 26.83 (+0.7) 16 | 5
115 SOIMEF  EA a9 26.97 (+1.4) 17 ] 6
116 50|k EHLEA =a9 27.01 (+3.1) 21 2
116 162[p88 Et IEH 27.01 (+1.3) 18 | 3
118 ST EE WX A E A 27.09 (+1.1) 12 | 1
119] 1265/ K2 =1k Eos—H 27.10 (+0.7) 16 | 6
120 1057/ % 4h Fogalay 27.12 (+1.6) 19 | 2
121 186 |7k @A L8#9FH 27.15 (+1.3) 18 | 4
122] 1192/ M HEGR fE&H 271.21 (+1.6) 19 | 3
123|  138ISE A PN L 21.27 (+1.3) 18 | 5
124 23RT  HEM CEILS 27.35 (+0.7) 16 | 7
125 2ER K— FaH 27.59 (+1.6) 19 | 4
126 192|218 MBX L89FH 27.63 (+1.3) 18 | 6
127 1027[B#8  ZhL AR FALES 21.71 (+1.3) 18 | 1
128| 203|=t5 JE L#FH 27.84 (+3.1) 21 3
129 57/ FiF #i= FaH 27.89 (+1.4) 17 J
130 194/8H# —4% I8FH 271.92 (+3.1) 20 | 5
131 128410 25t U 28.06 (+3.1) 20 | 6
132 65 FEEF 1= B 28.13 (+1.5) 22 1
133| 132|F% 15_—# £ 28.22 (+1.6) 19 | 5
134 37 E ik a9 28.37 (+1.6) 19 | 6
135 55 =48 %E =a9 28.72 (+3.1) 21 4
136 JER=:E T 2FTRF—X 28.76 (+1.5) 22 | 2
137] 231|385k 518 Lt - me 28.97 (+3.1) 21 5
138 200//Mg® - FD L89FH 29.04 (+3.1) 21 6
139| 633/ KA X kL 30.55 (+1.5) 22 | 3
140| 206 |#Kki&  #hiX I8 FH 31.04 (+1.5) 22 | 4
141 S| TRBL RETH 31.34 (+1.5) 22 | 5
142  134/t&F i fe&5d 33.95 (+1.5) 22 | 6
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[ 148] [ 28]
JE] L-Y | No. K £ il B sk lE= | [IE] L-» ]| No. K £ B4 Lo O
1 8 528[tERAk Eif 47.66 1 2] B29EAR KF 51.47
B KEH B
20 4 T8 EHERL 47.88 2 3 BER EF 51.58
BFXK KEFH &S
3 7| bA1FERHR IE 49.23 31 4 H9EE ZE 51. 81
B 7 (-2 A=)
41 6 66 RISt 4943 47 5 621EHE & 52.13
s % Jt Erh RKE#H
5 5 282 EEEKED 4964 5 6] 487/HEE K 52.37
BFXK BREE=ZS
6 3 526B%H mAL 49.65 6 11 186|&F @@ 52.57
B KIRTH
7 2 69| R E 49.66 7 7 485/FHN HRA 53.56
EFXK BREE=ZS
8 1 351|FH &5 49.79 81 8] 180/ E=& 55.99
—BEAEEINCT EFEEHEK
[ 3] [ 44]
JE] L-Y | No. K £ R4 ek = | [JE L-v] No. K £ - E2 Y e
1 3| 454|ER Et 50. 72 1 4 N|HHE =@ 50. 45
AES ELTXE
2 5/ 488)iEX BEH 51.75 2 1| 53R # 52.12
BREE=ZS RS
3 2 AEH X 52.24 3 3 129 RIEE 53.53
ELTXKEF KiR—&
41 4] 368|EEH 52.27 4] 20 3MTE@E EH 53.87
tEES —BEEEINCT
5 6 371|HE = 53.03 5 7 60 =8 =7 55.70
TEERS FE=
6 7 461[FTL =AY 53.13 5 27/FH #&E
AES ELTXE Ri5
7 8] 525/fEM EILA 53.25 6 38%E T
RS ELTXE Ri5
1 6 FH = 8 414 BREEX
ELTXE Ri5 AiNES Ri5
[ 5#] [ 6481
JIE[ L=y No. K £ £ k&= | [IE] -] No. K £ £ R IEE
1 7 5T1E# =X 52.54 1 6 489EE BUE 53.40
BEXltES BREE=ZS
2| 4] 459|5MEE EX 54.36 2 1 158/8E EX 53.65
AEE —BE%¥E=5
3 2 89 Kiz &t 54.45 3 8 B EE B 53.98
Z£2R5 BERRIG
4 1| 543 |=g fti— 54.70 4 7 493 &£FH H 54.52
RS BREE=ZS
5 6 4EE KM 59. 47 5 5[ 378/F EM 55.00
ELTKFE TEEERS
3 b2kE HE 6 3 3BT EME & 55.67
BEXltES Ri5 EREEES
5[ 200 FE ®EX 7 2 T132]fER & 56. 14
KRIS Ri5 TIEES
8 88 | N 4 375 BEEHm
BEFX Ri5 TEERS Ri5
[ 7#8] [ 8#f]
JE] L-Y ] No. K 4 £ fogx %= | |IE| L-» | No. K 4 % Y
1 3 157/EE =& 53.93 1 11 55017 @BA 52. 44
—BEE=5 RS
2 7| 530[EE EEZAT 54.85 2| 5| 343 EFEMFE 53.69
REARS EREEES
3 1| b47|f7Ep =& 55. 32 3 6/ 599/ K% ITH'R 54.46
RS EXkES
4] 5/ b5I8EEA EE 56. 03 4 7 59| A 54.84
BEXltEsS FES
5 8 537 EO0 =i 56. 65 5 2| 563|&%%E EBA 55. 31
RS RS
6 2 680/%kE A 57.07 6 8 223|B%H MK 55.77
Eolrd o) | s
T 4 29kak BE 58. 01 71 4 245@F & 56.99
EE—5 EE—5
6 128/ RIIER 8] 3] 618|&E EA 58.17
KiR—& Ri5 EHrIBS
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